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CARBON DIOXIDE (CO.) IN THE ATMOSPHERE :
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- GREENHOUSE GASES
- TONNE
- MILLION TONNE
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Where nitrogen gas is converted to Where ammonium in the soil is converted Ammonium is attached to clay particles
ammonium by some plants and high-energy into nitrite and then nitrate. whereas nitrate is not. Therefore nitrate
natural events such as lightning and leaches readily.

forest fires.

‘The conversion of nitrate into nitrogen or
nitrous oxide gas.

When the decomposition of organic matter

converts nitrogen to ammonium.



